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Task 1.Choose the word or phrase which best completes each sentence
1. The crime ..... is rising in inner city areas.
A ratio В toll C rate D rating
2. He was called into court to ..... evidence against his friend.
A tell В give C testify D describe
3. The boy kept his collection of coins in a tubular red .... 
A container В box C bag D case
4. Statistics do not give a full .... of the incidence of crime.
A picture В view C illustration D drawing
5. Although there is no formal agreement, the company has an .... code of behaviour.
A unsaid В untold C unstated D unwritten
6. Safety regulations are usually .... down by law.
A set B put C written D laid
7. Although he had given up his life of crime, he still found it difficult to persuade people to .... him seriously.
A take В see C relate D think
8. The Youth Leader was a	 .... of inspiration to many of the boys he worked with.
A spring В source C beginning D derivation
9. All ground-floor windows should have special locks .... to prevent burglars from entering.
A fitted В attached C implemented D inserted
10. Some people regard a sentence of Community Service as a very .... option.
A light В simple C soft D comfortable
11. I .... whether the truth will ever be known.
A fear В doubt C mistrust D distrust
12. The two boys really .... it off from the moment they met.
A hit В struck C made D put
13. The boy had a history of .... theft but had never been accused of a serious crime.
A small В unimportant C little D petty
14. Even in today's technological world, some crimes remain .... 
A unfound В unanswered C unsolved D uncleared

Task 2. Complete each sentence using an appropriate form of the word given in capitals
1. Society must provide .... to prevent criminals re-offending. (DETER)
2. In spite of .... police investigation, the crime remains a mystery. (VIGOUR)
3. I cannot think of any .... for the mystery. (EXPLAIN)
4. I think that the murderer might	 .... be the postman. (CONCEIVE)
5. The job of the police is to .... the law. (FORCE)
6. People can be offended if those they meet respond .... to their greeting. (APPROPRIATE)
7. Agatha Christie, who died in 1976 .... in crime novels. (SPECIAL)
8. Detectives find that .... photographs of crime scenes may make it easier to spot vital dues. (LARGE)
9. There have been .... improvements in detection techniques. (REMARK)
10. The crime rate in the town has decreased .... in recent months. (NOTICE)
11. The defendant’s alibi was so bad it was totally .... to the jury. (CONVINCE)
12. Young vandals can have a .... influence on their schoolmates. (DISRUPT)
13. There was a sense of .... as people rushed out of their homes to see what was causing the noise. (CONFUSE)
14. It can take some time to rehabilitate .... offenders after they have served a long prison sentence. (HABIT)

1 Task 3. Complete the second sentence with three to eight words so that it has a similar meaning to the first sentence, using the word given. Do not change the word given
1. They say it is likely that the police will catch him soon. chances
They say the ...........................................by the police.
2. Nowadays, smoking is forbidden everywhere in the building.	 permitted
Nowadays, no-one  ......................................in the building.
3. She can deal with any difficult situation. capable
She ....................... any difficult situation.
4. It isn’t obligatory to wear a seat belt in the rear of the car in all countries. sitting
In some countries you ......................................... in the rear of the car.
5. Although at first people were uncertain, they are now beginning to accept the use of genetic fingerprinting. acceptance
The use of genetic fingerprinting is ..................................period of uncertainty.

4. Choose the correct answer(s) for each question. (More than one may be possible.) Decide what is wrong with the other answers. They may have one or more of the following problems:
i) meaning of original sentence changed
ii) grammatically or lexically incorrect
iii) exam criteria not fulfilled (use of key word, number of words)

1. Laws are enforced by the police. job
It’s .............................. the law.
a) It's the job of the police to enforce the law.
b) It's the police's job enforcing the law.
c) It's time the police had the job of enforcing the law.
2. It’s possible that she hit her head and can't remember anything. lost
She ............................................. memory.
a) She might have hit her head and lost her memory.
b) She could have hit her head and lost her memory,
c) She hit her head perhaps and as a result lost her memory.
3. I'm convinced that she was speeding when the car crashed. driving
She ........................................... fast when she crashed.
a) She must have been driving too fast when she crashed.
b) She could have been driving too fast when she crashed.
c) She was convinced she was driving too fast when she crashed.
4. I don’t think the truth will ever be known. doubt
I ................................................................... the truth.
a) I have doubts whether anyone will ever know the truth. 
b) I don't doubt that everyone will know the truth.
c) I doubt whether anyone will ever know the truth.
5. You don’t have to decide now. make
It's ................................. now.
a) It's not necessary to make up your mind now.
b) It's unnecessary for you to make up your mind now.
c) It's not necessary for you to reach n decision now.
